
NO KAT
HONDA CRF 1100 L AFRICA TWIN      2020-->

H.079.C1 - Monta sia con silenziatori MIVV che con lo scarico originale

- It fits both MIVV and genuine silencer

Telaio / Frame

8 x4

4

7 x6

6 x6

5

9 x2

10 x2

1

2

3

# DESCRIPTION PART NUMBER QTY

1 Collettore #1 / Down pipe #1 9773H079C1A 1

2 Collettore #2 / Down pipe #2 9773H079C1B 1

3 Tubo di raccordo 2-1 / Link pipe 2-1 9773H079C1C 1

4 Vite M8 x 16 / Screw M8 x 16 50.73.098.1 1

5 Dado M8 flangiato / Flanged nut M8 50.73.393.1 1

6 Molla media / Middle spring 50.73.359.1 6

7 Tubo in gomma per molla / Rubber pipe for spring 50.73.210.1 6

8 Dado rapido M6 / Cage nut M6 50.66.009.1 4

9 Boccola / Bush 50.73.807.1 2

10 Flangia / Flange 50.73.808.0 2

Dadi originali
Original nuts


